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I a. What are the benefits of financi@r&$itives? #* (03 Marks)

b. What is OTC trading? Explaip$rffinctions of derivatives nifiiket. (07 Marks)

c. What is Financial DerivativpffBriefly explain the ,different players in the derivatives
,.-,*

What is Financial DerivativeffBriefly explain the.,-diff€rent players in the derivatives

market. "i=M -...--*. (l0Marks)

tr%# ##
UrL^+ .!^ *^^-+ t--, *^-t-I&*F+^ ^^-J.-^+n Bd^ /^. rf,^--r--\

ff%-'n {,;#
(03 Marks)2 a. What is meant by qpprffirto market? * 

-**

b. An investor trad-effide 1 rice in the markqfoY Rs.1600 per quintal. A 6 months future
- . ffi, '4esf - --- 

-"......,.:$..

MBA Degree Exanfffrffino Feb./NI ff . 2022

Financial Deri%tives
W^- &*' !.".

Js&e & .

Time: 3 hrs. ^ tl$fftx. Marks:100
fi)@#" ,* "..

Note: l.Answer any FOURfgllffistionsfrom Q.No.I to @.No.7.
2. Question No. 8 is €fututsory.

contract on this{hglis traded at Rs,1675.*$ffiae of one future contract is I quintal. An
amount of RdJO,i ds to be paid for storin$ffiriintal rice for 6 months. Calculate the price of
future co.4 What position investor has-h take in futures market? (07 Marks)

c. Mr. Guffilqdk long position in fivodutirres contacts on rice at an exercise price of Rs.50

initial *urgl" on thjffiract is 10% andper kg. hdinitial margin on thj{ffiract is 10% and#Wenance margin is 85% of the

initial nr%gin. The size of each ffiPe contract is 1000ffihe futures prices for the first l0
ofthe contract are siven w:

Day I %. 3 4 *sq H6 7 ;**U''1, 9 10

Settlement Price
(Rs./ks)

52.50;
ffi'p'

51.00 51.80

# tr.4p 51.10 49.75 50,30 s0.50 50.25

Prepare a margin

monev in excessr

accpunt assummg

]the initial margin

dargin calls

wn immedia

immediately
(10 Ma

thatuffi

is wifffi6
an

-or"y in exces-sffie initial -urgin ir;r,ffi*r, immediad#.-,* (10 Marks)

'-r- , -,i, '\ 
1' s

What is lot size *d ti"k rir"Z :' " " ' (03 Marks)

ltttttttt -ryffi
., *" *-f

Fourth Semester MBA Degree Exarffiatio

ler the 

Jffi** 
data about

Exerc*se'Ftibe Call Premitrffi 'Put Premium

9869

9880

9900

9920

9940

9960 rw#
ee8q"k#
10000-.."

100d0

NAe

ffi#ffis
ry?a.40

d 15.50

12.20

9:60

8.3s

7.80

8.70

9.70

10.60

t3.25
15.40

24.50
NA
NA
NA

July NIFTY opened at 3'" July 2017. Classify

rSic Aria time values ofthe options INA = optior

d

3 a. What is lot size anil tick size? ,,,. ' (03 Marks)

b. Find out the theoretical price o{AgtoTiimaturing in sin,fonths from now, which is currently

trading.qfu.540. The arnuaffitrffiee rate of retu*i*bontinuously compounded is 9%.

(D \ffiag'would an arbitraffi6*,i?tfr" six months future contract on this stock is trading at

Rs600? -*%# 
" 

"\1 
dRs600? **%# 

" 
"*. 

d

(ii) Does it make *y dry..ffice if the six*moriths future contract on this stock is trading at

.*@sRs.500? , ^ &ffi&'.
"di,\ A;;:+ih -.*_-flfl,S{i{i) What are the.$Sf;]iflvolved in the ar[itrHge transactions in futures contracts? (07 Marks)

c. Consider the following data about fuly 2020 NtrTY option (opening values of the day are

taken

The

intri

Classify each of the above options

= options are not available].

l of 3

and find out
(10 Marks)



4a.
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c.

5a.
b.

c.

6a.
b.
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What is covered and naked call? #,q 
*'r,fl' (03 Marks)

Discuss the factors that determine the option vaffi \ (07 Marks)

Consider a put option contract on a certain shareffiYZ, suppose two investors X and Y enter

into a contract and take short and long posiffirespectively. Other det6[!$;g:e given below:

Exercise price of Rs.l10 and it 
"rpii"rgffirctr-2020, 

size of coffitis 100-shares and

date of entering into contract ls .gnffi 6, 2020. Price of gffidn on the date of

contract = 7 .50. Calculate profiUlos;?rflppte for both the investor."

Stock prices are: 80, 90, 100, I 10-,ffib*eel50, 140 and 150. -j@ (10 Marks)

. .;%*- 
" 

".- "'

,.': : 'q&*

What is butterfly spread? ' :-* d (03 Marks)

F.xnlain commoditv exchmBe$ ih maiu and its role atle$sl i exchanges. (07 Marks)

the investor at vari

Di between coupon basis swap.

Fixed Rate FkmdE Rate

CompgrlX
CsmpflnyY

8.0%
8.8% ;i

w&BoR
h " LIBOR

| \w !; | ^ _'_-- ^_---- | _ -=@---:P I

I CompqryX | 8.0% | *$&IBOR I n*

I coqrpflny v I s.sx 'l$ * rmon I "Wry

;*fi;:* d% *w ary'
Co-$ sYX requires a *$&dd*rate investmenfu domquny Y requires a floating rate

inve.Atr#nt. Design u soqugln*it wil 
1e1 

a b%tfuracting as intermediary, 0.2Yo per annum and

ffi appear equally attrastr#e to X and Y. ;5ffi- (10 Marks)
***;*}} appear equally attraqtiil€ to X and Y. f1*ffi* (10 Marks)

" **,ji*' ""r 
Yi "",f

llw,,& ,,i tek -/
#''''what is vaR? :d\* 

d'i.- 'fl (03 Marks)
"'q&db. Differentiate benveejn stress testing am&back testing. (07 Marks)

c. Assume ttr6tftfiturrent spot ratd#f"fftPC is Rs.165.and which is expected to rise to Rs.l70

or fall to RffiS0 after six mon$sYThe annual continuously compounded risk-free interest

rate is 8%. What is the valuqofsix month European call option on the stock with strike pricene value,ofsix month European call option on the stock with strike pricerate is 8%. What is tl
-",",--lq,of Rs.162? (10 Marks)

(10 Marks)

(03 Marks)
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Sl.No. Stock Market P-rie P.S (Rs.) No. of Shares, Beta Value (Rs.)

Apollo Tyres Ltd.

Arvind Ltd.
Bata India Ltd.

Ajanta Pharma Ltd#
Biocon Ltd. .,,a* d
Exide Indusffib fS.
Federal BanffiI'
IDFC Ltd':"-*e 

-

VoltasJ- fttq#

snr LtffM

S*250
('{1 *w 370

ffiqw s8o

:* 1460d' 4oo

2t7
tt7
58

s0m
16H"::

;#

w"'=l

650

900

1500

3000

500

300

0.93

0.69

0.75

0.s5

0.45

1.07

1.28

0.81

t.52
1.99

The conffiWcompounding,
fears th{t'tke market will fall in

Indisfu&.Aence wants to hedge

cest of capital for the investor is 15%. The inve

pr future due to occq&fence of war between China

t?olio without sellj#& e shares in the portfolio. Si

6,eitent of9}Yo

^(u[ Find out the r

^' '- descries to rec

bf Niny futry*S tracts required to be traded if the investor
ofthe portfolidktil August 2020.Lio until

rs" contrr

#tr descries to reffiebeta ofhis portfolffi.lo 0.80. (20 Marks)
n*sdi-; 

#@,r*r' , dtl "Ykir,,F '\

are requested to explain ttq in$estor various op}mu"ff"ilable to he@e.*he portfolio and

choose the best one. You qryalso required to: qfl,: '

*$*#*d"
(i) Calculate the the*oiudcal value of tk:fiiprts contracts ryiftng in July and August

2020 if theN{ftyqr currently quotedffiS0. **-if-e
(ii) Find whether rlf not the futures rpadtet and spot markel pitce are consistent so as not to

offer an u*ltrug" profit if Jub dirtlrAugust futures are burrently trading at 9700 and

10.000 wittf"lot size of 75. t q#
s"--^.m^,d$tl#'.ik.rrrr)1ti,J--rr--

10.000 wittf lot size of75. %tuP d-
(iii) Find"orii the numbers offfiy futures contpffiquired to be shorted to hedge the

gniifdrportfolio ofthe inv&.stiiiuntil July and Au'i5trst 2020.

(iv) ffiU'"ut the numbe1ffift_y tutures.conryq retuirylf3 be shorted to hedge to the

eM,.r*

{.,,,,r,,,')r'

8 Case Study:

An investor Mr. Kairav has constructed a

companies; the details of which are given

annqfi cebt of capil

mg4ffim tuture due

ffiortfolio withou

hEtlgtng strategies a
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shares of ten
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the investor is not aware ofthe
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